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MAHTSHXNA (MLHRNETLHE) (ML ELHAILS 8,000,000 2,200,000 5,800,000
3l AH)
SMHHI =L 2 48,600 192,700 A 144,100
201 ¢er24| 18,600 32,700 A 14,100
01 At 22l 18,600 32,700 A 14,100
OdE3s81nz 15,000,000& * 14 15,000
O MUSR 2@ 93 BFHLY
90,000& = 5% = 83l 3,600
207 A O] 30,000 0 30,000
01 2339 30,000 0 30,000
O HMeaHHT sXI2 £8 - 2F 6L
EEY 30,000,000& = 14l 30,000
ol g1yl 7,951,400 1,857,300 6,094,100
801 Gl HIHI 7,951,400 1,857,300 6,094,100
01 L eroll bl bl 7,951,400 1,857,300 6,094,100
O oldidl 7,951,400,000& * 14 7,951,400




>
N £ 0 & e E M A
20209 = 20M SSXNAZLEL AL SES A &
AN ISR 0
Dot ESAMHDI RS (DG A& 1)
ol SZEHXSANA(GASTBLIY) (SN RELLD @3 ) CEEEED
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A S SIH)
ol g1yl 1,100,000 1,047,000 53,000
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01 BHoil bl bl 1,100,000 1,047,000 53,000
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Al 4,600,887
Al 2l MERMAMS (S SH 22l A 140,000 140,000 0
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 1,800,000 0 1,800,000
O NZSSHHAE oSl
1,800,000,000& * 14 1,800,000
QEXNF EAME=E A 400,000 0 400,000
401 Al HI K 201 I 400,000 0 400,000
01 A& Hl 400,000 0 400,000

O EXNT TAMULdAE =EES

400,000,000 = 14! 400,000
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Al 13,791,338
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- usoMae S8 @Y
100,000& » 10904 = 43| 4,000
- e MEXNSS(etedi= 8) 7
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- DENSAYTY S Y YREX
8,000& = 4% » 10& = 12& 3,840
02 2324l 97,580 76,580 21,000
O WSAE(HINEX, S=3t0et) M3
10,0003 * 4500 » 128 5,400
O RUDSU=HY SHN23
30,000& = 3804 = 12& 13,680
O RUuSHEEH HIIZA
2,100,000& = 35CH 73,500
O dx=tia 2 NIIRE=S
500,000& = 102 5,000
202 odl 10,560 10,560 0
01 = LH o4 1l 10,560 10,560 0
O WSeHHEAIE EXNEA S
20,000 = 4% = 11 * 123 10,560
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- _ _ RE]
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401 AlEHIZL 2 0HY| 1,957,000 3,767,000 A 1,810,000
== 50,000
Al 1,907,000
01 Al&H| 1,950,000 3,760,000 A 1,810,000
O WECHHMAIE X (E=22l) 500,000
- SYT(DSOHFHEX, LHIAN S)
250,000,000 = 14l 250,000
=} 25,000
Al 225,000
- NEFR(REAEEX, THEA S)
250,000,000 = 14l 250,000
= 25,000
Al 225,000
O MHEZM(E=2el) 600,000,000 = 14! 600,000
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O Hgdss AR 25,000,000 = 20 A 50,000
03 AlE 201 Y| 7,000 7,000 0
O X TAM o NEOMAILE &X
7,000,000& = 14 7,000
405 XtAHE S| 60,000 0 60,000
01 XAt 2 ZF S| 60,000 0 60,000
O OlsA! S=HHl 204 30,000,000 * 24! 60,000
DEFACBAI LS L Y 1,600,000 0 1,600,000
401 AIEHIZL 2 0HY| 1,600,000 0 1,600,000
01 Al&EH| 1,600,000 0 1,600,000
O OHMEE 5030 S M2ZAFY 500,000
- SHIA(XDESTHE, CHEA E)
250,000,000& = 14! 250,000
- NER(XDESTHE, THEA S)
250,000,000& = 14! 250,000
O SEOFAIAM AlooA ALAAEX(RE=22)
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50,000,000& * 14! 50,000




SA: REFHY
MY ol RESAXIL(REFHY)
He: SARNSSENI(RSAEE )N SARSAESESIA) (&)
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50,000,000& * 8JH A 400,000
ES2AUNSHHAIZSLEXLE 710,000 0 710,000
< 50,000
Al 660,000
401 Al HI K 201 710,000 0 710,000
< 50,000
Al 660,000
01 A& HI 710,000 0 710,000
O Heol, =, ZiH 8539 ISt AlA
X 2 Z 500,000
- SHP(USAHNEX, THEA S)
250,000,000& = 14 250,000
- NER(UEXEEX, CTHHA S
250,000,000& = 14 250,000
O ZZEHEX(0elol) 2,000,000& * 10002 20,000
O &=2AXN&X 100,000& * 2009H 2~ 20,000
O &==2x HEUIIEX &
20,000,000& * 50 4 100,000
< 50,000
Al 50,000
O 8t=28s HMUIIEX RXNE=>
70,000,000& = 14| 70,000
ARWNSES3MEA 1,000,000 0 1,000,000
401 AIEHI L 2 CHYI 1,000,000 0 1,000,000
01 A& HI 1,000,000 0 1,000,000
O nsetd 2X 2 A2 &X
1,000,000,000& * 14 1,000,000
0l Bl Bl 6,938,958 7,568,322 A 629,364
801 GilBIbI 6,938,958 7,568,322 A 629,364
01 Btolldldl 6,938,958 7,568,322 A 629,364
O oldldl 6,938,958,000& * 14 6,938,958
ASAAS 2 (St )(SADSMLSESH) 1,986,400 474,560 1,511,840
s 500,000
Al 1,486,400
S XA &2 333,400 52,400 281,000
201 Let24d] 6,840 6,840 0
01 At 2teltl 4,840 4,840 0
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2,000,000 * 50 10,000
O BE==XE g X&
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O 2YFXNE SA2e & X4
500,000,000& = 14 500,000
03 AlE 201 Y| 3,000 0 3,000
O A2l 3,000,000& = 14 3,000
HMotZNXGIE2EF=XNE =4 1,000,000 0 1,000,000
Fag 500,000
Al 500,000
401 AlEHIZL 2 0HY| 750,000 0 750,000
= 250,000
Al 500,000
01 Al& H| 750,000 0 750,000
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2HN: UE
X'IiH: EH
thel: &

ESgmE=gn;
SNE S8 XA (0
HNSHA22 (RS

= (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s 4,209,310 1,180,650 3,028,660
snes =4 N (HsnsSH) 4,177,900 1,147,000 3,030,900
HEHLSHAHZ2 (RSB EE)(TALSALSLSIA) 4,177,900 1,147,000 3,030,900
ANsEnsSHAH2el 4,177,900 1,147,000 3,030,900
201 L2l 1,204,500 182,000 1,022,500
02 2324l 1,204,500 177,000 1,027,500
O AM&EHISs X 1,204,500
- XNsEUSHMATS) E2AAE Sl
500,000,000& = 14 500,000
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